

(2) 7 p75

$$(1) S = \frac{1}{2} \sqrt{|\vec{a}|^2 |\vec{b}|^2 - (\vec{a} \cdot \vec{b})^2} \quad \dots \textcircled{1}$$

$$\vec{a} = (a_1, a_2), \quad \vec{b} = (b_1, b_2) \quad \text{と}$$

$$|\vec{a}| = \sqrt{a_1^2 + a_2^2}$$

$$|\vec{a}|^2 = a_1^2 + a_2^2 \quad \dots \textcircled{2}$$

$$|\vec{b}| = \sqrt{b_1^2 + b_2^2}$$

$$|\vec{b}|^2 = b_1^2 + b_2^2 \quad \dots \textcircled{3}$$

$$\begin{aligned} \vec{a} \cdot \vec{b} &= (a_1, a_2) \cdot (b_1, b_2) \\ &= a_1 b_1 + a_2 b_2 \quad \dots \textcircled{4} \end{aligned}$$

①に②,③,④を代入

$$\begin{aligned} S &= \frac{1}{2} \sqrt{(a_1^2 + a_2^2)(b_1^2 + b_2^2) - (a_1 b_1 + a_2 b_2)^2} \\ &= \frac{1}{2} \sqrt{a_1^2 b_1^2 + a_1^2 b_2^2 + a_2^2 b_1^2 + a_2^2 b_2^2 - (a_1^2 b_1^2 + 2a_1 b_1 a_2 b_2 + a_2^2 b_2^2)} \\ &= \frac{1}{2} \sqrt{a_1^2 b_2^2 - 2a_1 b_1 a_2 b_2 + a_2^2 b_1^2} \\ &= \frac{1}{2} \sqrt{(a_1 b_2 - a_2 b_1)^2} \\ S &= \frac{1}{2} |a_1 b_2 - a_2 b_1| \end{aligned}$$

$$\left\{ \sqrt{x^2} = |x| \right.$$

$$\begin{aligned} (2) S &= \frac{1}{2} |a_1 b_2 - a_2 b_1| \quad \text{と} \\ &= \frac{1}{2} |4 \cdot 1 - 2 \cdot (-1)| \\ &= \frac{1}{2} |4 + 2| \\ &= \frac{1}{2} \cdot 6 \\ &= 3 \end{aligned}$$

∴ 3